Tooling by DIJET.

(8==2J%& ]

WERSAHE
EBAQUMRE 0 e 200
OSVITRURME 0 e 200
FTANIESRIVNRIE e 201
DIVIROUI—RE e 201
VARRIVRAOUL—RUE s 201
OSVTROUA—RUE e 202
LYFRE e 202
DODELEHRURIE e 202
MULORTUTELEDRAURME oo 203
OSVTRYNRE e 203
OSVIRME e 203
OSVTDYIP—RUE e 203
WX IFRERECS —BR QR e 204
BEEFRESHRR 0 e 205
WSIBHRExR 0 e 207
Wiz 000 e 208
BISMOTSYRIIGR s 209



Tooling by DUET 3-=>7%&

AR UHHE

;% BB J A EALF
A B © D E a’
, ‘ ASW-113 48 |No.10-32UNF| 127 | 48 | — | — AD-1845
‘[j ADS-513 78 | M5x05 | 130 | 50 | — | — AD-2080
ADS-514 56 | M5x05 | 145 | 65 | — | — AD-2080
ot
ASW-513 90 | M5x05 | 130 | 50 | — | — AD-1845
95 TRUHRE
o j S N
e | rr Lar s e tere e | TERY
CB3540 90 | M35x06 | 63 | 23 | — | — | T-5 21
CSW-1838 27 | M18<035 | 37 | 18 | — | 5 6 0.25
CSW-206 35 | M25x045 | 50 | 24 | — | 55 T-8 0.9
CSW-2542 30 | M25x045 | 42 | 25 | — | 43 7 0.9
‘ CSW-2547 34 | M25x045 | 47 | 25 | — | 43 7 0.9
?=I CSW-3570 55 | M35x06 | 70 | 35 | — | 5 | T-5 21
‘ ‘ CSW-3595 55 | M35x06 | 95 | 35 | — | 5 | T-5 21
. CSW-406H | 50 | M4x07 | 60 | 36 | — | 43 | T15 36
| CSW-407 50 | M4x07 | 70 | 36 | — | 43 | T15 36
CSW-408H | 50 | M4x07 | 80 | 36 | — | 43 | T-15 36
CSW-4510 66 | M45x075 | 100 | 40 | — | 57 | T=20 5.0
CSW-510 64 | M5x08 | 110 | 45 | — | 43 | T20 55
DSW-306H | 43 | M3x<05 | 65 | 32 | — | 5 | T10 18
DSW-307 43 | M3x05 | 75 | 28 | — | 55 | T-0 14
DSW-307H | 43 | M3x05 | 76 | 32 | — | 5 | T10 18
DSW-4075 52 | M4x07 | 75 | 35 | — | 5 | T-5 36
@"« sbOd DSW-408 60 | M4x07 | 85 | 36 | — | 5 | T15 36
ol DSW-4085 52 | M4x07 | 86 | 35 | — | 5 | T-5 36
c DSW-4510H | 6.8 | M45x075 | 100 | 47 | — | 5 | T-20 6.0
DSW-4512H | 6.8 | M45x075 | 125 | 52 | — | 5 | T-20 6.0
DSW-509 70 | M5x08 | 95 | 49 | — | 5 | T-20 6.1
DSW-511H | 70 | M5x08 | 115 | 49 | — | 5 | T20 6.1
DSW-512v | 72 | M5x08 | 125 | 60 | — | 5 | T-25 6.1
ESW-205 36 | M25x045 | 55 | 20 | — | 60 T8 0.9
ESW-206 36 | M25x045 | 60 | 20 | — | 60 T-8 0.9
ESW-304 40 | M3x05 | 45 | 20 | — | 55 T8 14
ESW-306 40 | M3x05 | 60 | 20 | — | 55 T8 14
ESW-307 40 | M3x05 | 75 | 20 | — | 85 T8 14
ESW-405 53 | M4x07 | 59 | 27 | — | 5 | T-15 31
ESW-406 53 | M4x07 | 66 | 27 | — | 5 | T-5 31
ESW-408 53 | M4x07 | 80 | 27 | — | 5 | T-5 31
ESW-410 53 | M4x07 | 100 | 27 | — | 55 | T-15 31
ESW-412 53 | M4x07 | 120 | 27 | — | 55 | T-15 31
ESW-507 68 | M5x08 | 75 | 34 | — | 5 | T25 55
ESW-508 68 | M5x08 | 82 | 34 | — | 5 | T-25 55
ESW-510 68 | M5x08 | 100 | 34 | — | 5 | T25 55




9-=27%& Tooling by DIJET

93527 TRUKIHE

» . ¥ & RSAD | HEENLY
(S & 7 B c D E a | PAZX | (N'm)
F$1030 66 | M5x<08 | 109 | 55 | — | 60 | T-20 5.5
F$10308 66 | M5x<08 | 95 | 55 | — | 60 | T-20 5.5
FSW-2005H | 25 | M2x025 | 50 | 13 | — | 40 | T-06 0.5
FSW-2506H | 30 | M25x035 | 66 | 15 | — | 40 | T-07 0.9
FSW-3007H | 38 | M3x035 | 81 | 20 | — | 40 | T-08 12
: “’-"ﬁ' FSW-3509 47 | M35x06 | 96 | 23 | — | 40 | T10 2.0
3|8 m
® e S FSW-4013 | 58 | M4x07 | 135 | 33 | — | 40 | T15 | 30
c ‘ FSW-5016 68 | M5x<08 | 164 | 32 | — | 40 | T20 4.0
FSW-6020 85 | M6x10 | 200 | 43 | — | 40 | T30 5.0
FSW-8025 110 | M8x125 | 250 | 55 | — | 40 | T-40 6.0
HSW-614H | 100 | M6x10 | 150 | 73 | — | 60 | T-30 75
TSW-2250 31 | M22x045 | 50 | 23 | — | 60 | T-07 0.6
TSW-2556H | 36 | M25x045 | 56 | 27 | — | 60 | T-08 0.9
TSW-408 55 | M4x07 | 80 | 33 | — | 60 | T-15 3.4
TSW-511 70 | M5x<08 | 110 | 50 | — | 60 | T-20 5.5
TSW-612 85 | M6x10 | 120 | 48 | — | 60 | T25 75
NATUTERIVNRES
P . 3 & RSATJ NS
2R & 7 B c D E F | 94X | (N-m)
HCS4-10 70 | M4x07 | 140 | 40 | 30 | — — —
P HCS510 | 85 | M5x08 | 150 | 50 | 40 | — | — —
OIYvIRATV1—HE
e ’ ¥ & RSAT |V
B R ¥ & A B c D E F HA4Z | (N-m)
LS-1 46 | Mex10 | 220 | 85 | 85 | 30 — 6.0
LS-101 46 | Mex10 | 160 | 65 | 65 | 30 — 6.0
LS-106 46 | Mex10 | 145 | 65 | 50 | 30 — 6.0
Ls-107 46 | Mex10 | 130 | 50 | 50 | 30 — 6.0
Ls-109 55 | M7x075 | 190 | 75 | 80 | — | T25 7.0
LS-180 60 | M8x10 | 190 | 70 | 80 | — | T2r7 8.0
LARKRY >V ZATY1—#51E
o & R RS4J |#emErLY
7 A B c D E E H4ZX | (N-m)
Ls-113 37 |No10-32UNF| 102 | 45 | 41 | 24 - —




Tooling by DUET 3-=>7%&

935V TAIV1—E

s ” X & RSAT |HENLY
B R & = B c D E F | Y1X | (N-m)

SLS-3 60 | M8x10 | 200 | 80 | 80 | 40 — 8.0
B oB® B OB s RSATHALZ
A B © D E
LW-015 465 14.0 = — 15 —
LW-020 52.0 15.0 — — 2.0 —
A LW-025 595 18.0 — — 25 —
o# LW-030 67.0 20.0 — — 3.0 —
o i LW-040 750 250 - — 40 —
LW-050 80.0 28.0 — — 5.0 —
LW-100 1230 400 — — 10.0 —
LW-140 154.0 56.0 — — 14.0 —

O +j A-030 — 60.0 80.0 28.0 3.0 —

A-07SD 4.0 60.0 80.0 — — T-7

3| A-08SD 40 70.0 80.0 — — -8

== 2 J A-10SD 4.0 70.0 95.0 — — 7-10
¢ L s A-20SD 5.0 90.0 105.0 — — T-20
A-25SD 5.0 100.0 105.0 — — T-25

0 B A-06 1.7 345 15.0 15.0 — T-6
°TT=% A-07 2.0 345 15.0 15.9 — 1-7
S A-08 23 39.0 19.0 19.0 — T-8

B - A-10 3.0 400 40.0 20.0 — T-10

D
O
A-15 3.5 45.0 40.0 20.0 — T-15
D

A-20W 40 45.0 40.0 20.0 — 7-20
5 A-15T 40 100.0 80.0 26.0 — T-15
A-20 40 100.0 100.0 32.0 — T-20
ﬂ . A-20L 55 200.0 100.0 32.0 — 7-20
AN % | A% 45 100.0 100.0 32.0 — T-25
' A-27 55 100.0 100.0 32.0 — T-27
o A-30 6.0 100.0 100.0 32.0 — 7-30
A-40 7.0 100.0 100.0 32.0 — T-40
<
‘% = AD-1845 18 45.0 — — — —
- B
¥
=== = AD-2080 2.0 45.0 35.0 — — —
I ELLSHRUBRE
S g y ¥ & RSAT |iEENLY
B % ¥ & A B c D E E H4ZX | (N-m)
B
© = ° LsM512 | — | Msx10 | 126 | 10 | 30 | 25 | — —
F - ] D . . . . .




9-=27% Tooling by DIJET

ML ARG EIESHRURE

5 g ; ¥ & RSAD |HENLY
i s ¥ & A B c D E F H4Z | (N-m)
RSW-05008 — M5x0.8 | 80 | — — — | 110 —
95T YMRIB
5 o . ¥ A RS4qT
BTN & !
F f A B o] D E F G ZE PN
F
g [
= a DCM-1 M5x0.8 | 138 | 138 | 68 | 20 | 85 | 25 —
w G
C
mﬁ EJ DCM-5 M6x1.0 | 170 | 165 | 89 | 20 | 100 | 30 —
Al
F
MWF_’ S DCM-17 M45x0.75 | 117 | 180 | 105 | 50 | 100 | — T-20
& @
mﬁﬁ DCM-18 M35x06 | 100 | 130 | 76 | 30 | 72 | — | T15
A
IS5V TIRE
B R B OE 3 =
A B C D E F
F
=
& DCM-2 M8x1.0 10.0 19.0 1.0 6.0 135
AEx) |||
95Ty —ig
B BB EiE
A B c D a B
s ‘{ ER CW-11 8.0 5.0 1.0 40 55 12
o] &




Tooling by DIJET s-=>J&

FEEREIR

S48 JISIAE BT w2 98 JISIRAE BN 2=
B S REES SM CxxxxP
| B SRB HRUHEEDRRUSR CxxxxPP
A | —RmsRETE ss o CxooR
—fRiE SRS M SSC CxxxxBD
RS s AREEEBRRUESE | SAPH ARUMESE CxxxxBDS
SPCC, SPCT CxxxxBE
\ AR U SPCD, SPCE IS LROTIV=E—oLEaD | AP
s SPCF, SPCG RRUE AxxxPC
. SPHC, SPHD AxxxxBE
RMEERIHRL UM SPHE, SPHF 7_’;'/5 AxxxxBES
EERRRRE SGP Tp | PVSSOLRUTLSZOLASD | AwoBD
RS BB ARREEE STB FI= | BRUR AxxxxBDS
BEARBESAREREE STH iy )N AxxxxW
— s AR R EEE STK & AxoxWS
SRR R STKM BRI | ) == AROT IS SO LASEEIH | AooxS
Tt T iry L SCr-TK, SCN-TK o ot e reman | AXKFD
BE | BEERAT L ASEE SUS-TK 7WE=OLROTVE=OLBEEER |,y
—REERATAE STKR NS ZE TN MP
RERSSHES STPA EREMEN | T IRUILARE MB
ERE AR RBmE STPG =5 b | —oT RO =T LB RO NCuP
SRR ERRRENE STPT [ CurLRUC v L aRE NCUB
SEREARRERE STS FHY NN TBxxH
REART L AEE SUS-TP mi |0/ ROTIVEEE TBXxC
e e FL L] SxxC, SXxCK FROHEZEY CACXOX
gg FIVE=OLSOLEUTF @AM | SACM e ) CACY0xC
i SCM, SCr TS LEREY ACXX
B R A S EET SNC, SNCM gy | IOFIOLEREN MCx
SMn, SMnC FHERIANAN ZDCx
I | R LEmE SK FIVE=OLERIANAN ADCX
B A TE®E SKS, SKD, SKT RIRIILERIANAR MDCx
# ErETEEEN SKH ROARAZ)L WJx
. | REROTEEATREREN SUM
15| 2 F | BRERSOLHEHEY SuJ
% 7 xrasmimit SuP
H 2 250U 28E SUS-B
# m% AREER 7 >~ L ABRROE S SUS-HP, SUSHS
Y [ smmmErT oL 2R Es SUS-CP, SUS-CS
T | s SUH-B, SUH-CB
0 | MEAER SUH-HP, SUH-CP
2 | anREssE NCF-B
Zz | MEmREaSR NCF-P
RRERE SF
BE | JOLTUIT ERES SFCM
—or LOOLEYT T ERES SFNCM
RS HEHD FC
IRRBS SRS FCD
P FCMB
GlfiieHo3) FCMW
FCMP
RREBE SC
BEREEIRRERVESSEBES | SCC
- 27U A SRR SGS
HEEHES SCH
BV EEBS SCMnH
BESERGES SCPH




9-=27%& Tooling by DIJET

RS Ak R RRISERY Y IV ARMRUY Y 1Y 70 LRER

B4 USA R A USA ko

Jis AISI/SAE W.-nr DIN Jis AISI/SAE W.-nr DIN

S10C 1010 1.0301 C10 SMn420 1522 — —
S15C 1015 1.0401 ci5 SMn433 1536 — —
S20C 1020 1.0402 c22 SMn438 1541 — —
S25C 1025 1.0406 C25 SMn443 1541 — —
S30C 1030 1.0528 C30 SMnC420 — — —
S35C 1035 1.0501 c35 SMnC443 — — —
S40C 1040 1.0511 C40
S45C 1045 1.0503 C45 o =kt )
S50C 1049 1.0540 €50 Js AISI/SAE W.-nr DIN
S55C 1055 1.0535 C55 K Wiis — —
S58C 1060 1.0601 C58 ko Wit 12 — —
- SK3 W1-10 1.1545 C105W1
=y by 0L aKka W19 — —

JIS AISI/SAE W.-nr DIN SK5 W1-8 1.1525 C80W1
SNC236 3135 15710 36NiCr6 SK6 W1-7 1.1525 C80W1
SNC415 3415 15732 14NiCr0 SK7 — 1.1620 C70W2
SNC631 — — —

SNC815 3310 15752 14NiCr14 SRETEHNMZ

SNC836 — — — Jis AISI/SAE Wonr DIN
SKH2 T1 — —
SKH3 T4 — —

Jis AISI/SAE Wnr DIN SKH10 T15 - -
SNCM220 8620 16523 | 21NiCrMo2 SKH51 M2 1.3343 S6-5-2
SNCM240 8640 1.6546 | 40NiCrMo22 SKH52 M3-1 — —
SNCM415 — — — SKH53 M3-2 1.3344 $6-5-3
SNCM420 4320 — — SKH54 M4 — —
SNCM439 4340 1.6582 | 35CrNiMo6 SKH56 M36 — —
SNCM447 — — —

SNCM630 — — — e T a1

SNCM815 - - - JIS AISI/SAE Wonr DIN
SKS11 F2 — —

20 L3RR SKS51 L6 — —

JIS AISI/SAE W.-nr DIN SKS43 W2-9 1/2 — —
SCra15 5015 1.7015 15Cr3 SKS44 W2-8 1/2 — —
SCr420 5120 1.7020 20Cr4 SKD1 D3 1.2080 X210Cr12
SCr430 5130 1.7033 34Crd SKD11 D2 1.2379 | X100CrMoV5
SCr435 5132 1.7034 37Cr4 SKD12 A2 1.2363  |X100CrMoV5 1
SCr440 5140 1.7045 42Cr4 SKD2 — 1.2436 | X210CrW12
SCra45 5147 — — SKD5 H21 1.2581 | X30WCrV9

SKD61 H13 1.2344 | X40CrMoV5
J0LEVIS VR -

JIS AISI/SAE Wonr DIN AT YL AM (F15105)

SCM415 — 1.7262 15CrMo5 Jis AISI/ASTM W.-nr DIN
SCM420 — — — SUS405 AIS| 405 1.4724 X6CrAI13
SCM430 4130 1.7218 25CrMo4 SUS429 AISI 429 — —
SCM435 4137 1.7220 34CrMod SUS430 AIS| 430 1.4742 X6Cr17
SCM440 4140 1.7223 41CrMo4 SUS430F | AISI 430F 1.4104 |X12CrMoS17

SCM445 4145 — — SUS434 AlS| 434 — —




Tooling by DUET 3-=>7%&

AT VLA (RILFVHARR) THEAM (ox51+%)
EES USA Ry B USA Ry
JIS AISI/ASTM W.-nr DIN JIS AISI/ASTM W.-nr DIN

SUS403 | AISI403 — — SUH21 - - CrAI1205

SUS410 | AISI410 1.4006 X10Cr3 SUH409 | AISI 409 1.4512 X6CrTi12

SUS416 | AISI416 — — SUH446 | AISI 446 — —
SUS420J1 | AISI 420 1.4034 X20Cr13
SUS420F | AISI 420F — — THEAM (L7 v %)

SUS431 AISI 431 1.4057 | X20CrNi172 s ASUASTM W 5
SUS440A | AISI 440A — — ST — — —
SUS440B | AISI440B — — SUHa — — —
SUS440C | AISI 440C — — SUha — — —

SUH11 - - -

ATF VUV AM (A —2FF1+F)
JIS AISI/ASTM W.-nr DIN

SUS201 AISI 201 — — RIFHHHm
Jis

SUHB00 ASTM 616 — —

SUS202 AlISI 202 — —

AISI/SAE Worr DIN
SUS301 | AISI301 - - FC100 20 0.6010 GG 10
SUS302 | AISI302 - - FC150 25 0.6015 GG 15

SUS302B | AISI302B = - FC200 30 0.6020 GG 20
SUS303 | AISI303 14305  |X10CrNiS189 Feo50 o 06025 G 25

SUS303Se | AISI303Se - — FC300 40 0.6030 GG 30
SUS304 | AISI304 14301 | X5CINi1810 Ceago o 06055 oG a5

SUS304L AlISI 304L 1.4306 X2CrNi1911

SUS304NI | AISI 304N — —
SUS305 AlISI 305 1.4303 X5CrNi1812 FRIAE SR

SUS308 AlS| 308 JIS AISI/SAE W.-nr DIN
SUS309S | AISI309S — — FCD400 60-40-18 0.7040 GGG 40
SUS310S | AISI310S _ — FCD450 60-40-8 0.7045 GGG 45

SUS316 AlSI 316 1.4401  |X5CrNiMo17122 FCD500 65-45-12 0.7050 GGG 50
SUS316L AlSI 316L — X2CrNiMo17132 FCD600 80-55-06 0.7060 GGG 60
SUS316N | AISI316N 1.4404 — FCD700 100-70-03 0.7070 GGG 70

SUS317 AISI 317 1.4438 | X2CrNiMo18164
SUS317L AISI 317L 1.4438 | X2CrNiMo18164
SUS321 AISI 321 — —
SUS347 AlISI| 347 1.4550 X6CrNiNb1810
SUS384 AlSI| 384 — —

Jis AISI/ASTM W.-nr DIN
SUH31 — — —
SUH35 — — —
SUH36 — — —
SUH37 — — —
SUH38 — — —
SUH309 AlISI 309 — —
SUH310 AISI 310 1.4845 CrNi2520
SUH330 AlISI 330 — —




9-=27% Tooling by DIJET

1 OBEHDSIIC KB E I

N kgf dyn
1 1.019 72X10™" 1X10°
9.806 65 1 9.806 65X10°
1X107° 1.019 72X10°° 1
[r¥va) 1Pa=1N/m?, 1IMPa=1N/mm’
PaX[&N/ma2 MPaX [&N/mm2 kegf/mmza kgf/cmz2 kgf/m2
1 1X10°° 1.019 72X1077 1.019 72X10°° 1.019 72X10™
1X10° 1 1.019 72X10™" 1.019 72X10 1.019 72X10°
9.806 65X10° 9.806 65 1 1X10° 1X10°
9.806 65X10* 9.806 65X10°* 1X107° 1 1X10*
9.806 65 9.806 65X10°° 1X10°° 1X10™ 1
EAH 1Pa=1N/m’
Pa kPa Mpa bar kef/cmz2
1 1X107° 1X10°° 1X10°° 1.019 72X10°°
1X10° 1 1X107° 1X107° 1.019 72X10°°
1X10° 1X10° 1 1X10 1.019 72X10
1X10° 1X10° 1X10™ 1 1.01972
9.806 65X10* 9.806 65X10 9.806 65X10°° 9.806 65X10™ 1
tE -IRILF—-BE 1J=1W-s, 1J=1N-m
J kW-h kgf-m keal
1 2.777 78X107 1.019 72X10™" 2.388 89X10™*
3.600 00X10° 1 3.670 98X10° 8.600 00X10°
9.806 65 2.724 07X10°° 1 2.342 70X10°°
4.186 05X10° 1.162 79X10°° 4.268 58X10° 1
tE=E(TEFE . BhH) - ;,’lﬁ 1W=1J/s, PS: B/
W kW kegf-m/s PS kcal/h
1 1X107° 1.019 72X10™" 1.359 62X10°° 8.600 00X10™"
1X10° 1 1.019 72X10° 1.359 62 8.600 00X10°
9.806 65 9.806 65X10°° 1 1.333 33X10°* 8.433 71
7.355X10° 7.355X10”" 7.5X10 1 6.325 29X10°
1.162 79 1.162 79X10°° 1.18572X10"" 1.580 95X10°° 1
kb MREER
J/(kg-K) kcal/(kg-C), cal/(g-TC) W/(m-K) keal/(h-m-C)
1 2.388 89X10™* 1 8.600 00X10™
4.186 05X10° 1 1.162 79 1
ElE5EE
min™' s’ r.p.m.
1 0.0167 1
60 1 60




Tooling by DIJET s-=>J&

HDEYH—RAFES T BELIMIRE(E

£ | JuzUmgEex D) £ | Juzume 5]
Y 10mmER - Owvo9T)ViES =l Y 10mmER - OvooT)ViES 3
7| 7m3000Kker 7| s 7 | 7m3000kef AT
2 [ @ 595 | Axr—Ib | BAr—Ib | Car—b | & | Gakife) 2 [ @ 599 Axr—ib | BRo—Ib | Car—v | & | Gadis
B | ,. |A7v | fE60kef |FEI00kef|FEIS0kef| < | MPa B | . |A7v|7E6Okef | wEI00Kef | FEISkef| < | MPa
| B BIUC| SvEEE | ®16mm | SAPEURERE (kef/mn=) T | B BT SvEREE | @16 | SPEVRMEE {kef/m)
® 1R | EF | (16NER|  EF B |8 | EF | (/6hE|  ET

HV HB | HRA HRB HRC | HS HV HB | HRA HRB HRC | HS
1900, - - 93.1 - 80.5 - - 420| 397 | 397 71.8 - 42.7 | 57 (1370 (140)
1800 - - 92.6 - 79.2 - - 410| 388 | 388 71.4 - 418 - 11330 (136)
1700, - - 91.9 - 779 - - 400| 379 | 379 70.8 - 40.8 | 55 1290 (131)
1600, - - 91.3 - 76.6 - - 390| 369 | 369 70.3 - 39.8 — 11240 (127)
1500 - | - | 905 - 753 | - - 380|360 | 360 | 69.8 | (110.0) | 38.8 |52 1205 (123)
1450 - | - | 90.1 - 746 | - - 370| 350 | 350 | 69.2 - 37.7 | - [1170 (120)
1400, - - 89.6 - 74.0 - - 360| 341 | 341 68.7 | (119.0) | 36.6 |50 [1130(115)
1350 - - 89.1 - 73.4 - - 350| 331 | 331 68.1 - 355 - 11095 (112)
1300 - - 88.7 - 72.7 - - 340| 322 | 322 67.6 | (108.0) | 34.4 |47 [1070 (109)
12500 - - 88.3 - 721 - - 330| 313 | 313 67.0 - 33.3 - |1035 (105)
1200, - - 87.9 - 715 - - 320| 303 | 303 66.4 | (107.0) | 32.2 |45 1005 (103)
1150, - - 87.5 - 70.9 - - 310| 294 | 294 65.8 - 31.0 — 1980 (100)
1100 - - 87.1 - 70.3 - - 300| 284 | 284 65.2 | (105.5) | 29.8 |42 | 950(97)
1050, - - 86.6 - 69.6 - - 295| 280 | 280 64.8 - 29.2 - | 935(96)
10000 - | - | 86.2 - 689 | - - 290| 275 | 275 | 645 | (104.5) | 285 |41 | 915(94)
940/ - | - | 856 - 68.0 |97 - 285|270 | 270 | 64.2 - 27.8 | — | 905 (92)
920| - - 85.3 - 675 | 96 - 280| 265 | 265 63.8 | (103.5) | 271 40 | 890 (91)
900| - - 85.0 - 67.0 |95 - 275| 261 | 261 63.5 - 26.4 - | 875(89)
880| - |(767)| 84.7 - 66.4 | 93 - 270| 256 | 256 63.1 (102.0) | 25.6 |38 | 855(87)
860| - |(757)| 844 - 65.9 |92 - 265| 252 | 252 62.7 - 24.8 — | 840 (86)
840| - |(745)| 841 - 653 | 91 - 260| 247 | 247 62.4 | (101.0) | 24.0 |37 | 825(84)
8201 - |(733)| 8338 - 64.7 |90 - 255| 243 | 243 62.0 - 23.1 - | 805(82)
800| - |(722)| 834 - 64.0 |88 - 250| 238 | 238 61.6 99.5 222 36| 795 (81)
780 - |(710)| 83.0 - 63.3 | 87 - 245 233 | 233 61.2 - 21.3 - | 780 (79)
760| - |(698)| 82.6 - 62.5 | 86 - 240| 228 | 228 | 60.7 | 98.1 20.3 | 34| 765 (78)
740| - |(684)| 82.2 - 61.8 | 84 - 230| 219 | 219 - 96.7 | (18.0) | 33| 730 (75)
720 - |(670)| 81.8 - 61.0 |83 - 220| 209 | 209 - 95.0 (15.7) | 32 | 695 (71)
7000 - |(656)| 81.3 - 60.1 81 - 210| 200 | 200 - 934 (13.4) | 30 | 670 (68)
690 - |(647)| 81.1 - 59.7 - - 200| 190 | 190 - 91.5 (11.0) | 29 | 635 (65)
680| - |(638)| 80.8 - 59.2 |80 - 190] 181 | 181 - 89.5 (8.5) |28 | 605 (62)
670 - | 630 80.6 - 58.8 - - 180|171 | 171 - 87.1 (6.0) | 26 | 580 (59)
660 - | 620 80.3 - 583 |79 - 170| 162 | 162 - 85.0 (3.0) | 25 | 545 (56)
650 - | 611 80.0 - 57.8 - - 160| 152 | 152 - 81.7 (0.0) |24 | 515(53)
640| - | 601 | 79.8 - 57.3 | 77 - 150| 143 | 143 - 78.7 - |22/ 490 (50)
630 - | 591 | 795 - 56.8 | - - 140| 133 | 133 - 75.0 — | 21| 455 (46)
620| - |582 | 79.2 - 56.3 |75 - 130| 124 | 124 - 712 — 20| 425 (44)
610 - | 573 78.6 - 55.7 - - 120| 114 | 114 - 66.7 390 (40)
600 - | 564 78.9 - 552 |74 - 110| 105 | 105 - 62.3
590 - | 554 78.4 - 54.7 — [2055 (210) 100 95 | 95 - 56.2
580| - | 545 78.0 - 541 72 2020 (206) 951 90 | 90 - 52.0
570/ - | 535 77.8 - 53.6 — (1985 (202) 90 | 86 | 86 - 48.0
560 - | 525 774 - 53.0 | 71 /1950 (199) 85| 81 81 - 41.0
550 (505)| 517 | 77.0 - 52.3 | — |1905 (194)
540(496)| 507 | 76.7 - 51.7 | 69 |1860 (190) 1. ZORIEISEAN KT T SRR b D TH B,
530|(488)| 497 | 76.4 - 51.1 | — 1825 (186) 2. {MPa=1N/mm

3. % () ABERSEIEAVSNEWEEE NN THY)
520|(480)| 498 | 76.1 - 50.5 | 67 [1795 (183) SELLTRLELDTHS,
510((473)| 479 75.7 - 49.8 - [1750 (179)
500 (465)| 471 75.3 - 491 66 {1750 (174)
490 (456)| 460 74.9 - 48.4 — [1660 (169)
480| 448°| 452 | 745 - 47.7 | 64 1620 (165)
470] 441 | 442 741 - 46.9 — (1570 (160)
460| 433 | 433 73.6 - 46.1 62 {1530 (156)
450| 425 | 425 73.3 - 45.3 — (1495 (153)
440| 415 | 415 | 72.8 - 445 | 59 |1460 (149)
430| 405 | 405 | 72.3 - 436 | — |1410 (144)




AEERAN

9-=27%& Tooling by DIJET

. om 0 = LLIBZ XE BHA - — g Oy L.l =
1), 1 1). —_———
D% | JISHEE | AISIHES|| SR | e s ERRRUSE | SR S HiIEE | AT | B Tl h—3>
RETEH| SK105 W1-10 SK3 QK3 YK3 K3 YC3 K990
SKS93 SK301 OK3M | YK30 K3M YCS3
SKS3 SKS3 QKS3 GOA KS3 SGT ARNE K460
SKD1 D3 SKD1 Qct DC1 KD1 CRD SVERKER3 | K100, K107
SKD11 D2 SKD11 Qc11 DC11 KD11 SLD CDS11 | RD11  |SVERKER21| K105, K110
SKD11 () AUD15 QCM8 | DC53 |KD11S,kD21| SLD8 | MD59 SLEIPNER| K340
#CrSKD SXACE acM7 DCX ARK1
SKD12 A2 SKD12 DC12 KD12 SCD RIGOR | K305
TUN—K> GO40F | KAP65 | HPM2T IMPAX
. |40HRC
=n
7
g | TUN—Fk>
& |soMRCLLE X1 RC55 PRE2
KPR SX105V, SX4 QF3 GO5  |FH5, KRCX |HMD5, HMD1 FERMO
EB70 4 AKS3 G04 KSM | ACD37
T EEH AKS4 QF1 GS5 KTV5 YSM K630
CALMAX
AUD11 YCK2 | oo ELMAX
Z0f SX5 QcM10 ACD8 | oo VANADIS4 | K190
SX44 SLD10 VANADIS6
VANADIS10
SKH51 M2 QH51 MH51 H51 YXM1 SKH9 | RHM1 S600
HM35
SKH55% MHS5 | HM35 | YXM4 | oo S705
a8 HS93R
% SKH57% MH8 MVI0 | XVC5 | HS98M S700
T FM38V
a8
&
MDS1
QHZ DRMp | KMX1 | YXRS3 | MDS3
R(UPTFES DRMs | KMX2 | YXR3 | MDS7
KMX3 | YXR7 | MATRI
X2 ATM3
SKH40 KHA30 DEX40 HAP40 | FAX38 ASP30
n DEX-M1
% YRy 2 KHA3VN DEX-M3 HAP5R
[
b
E
= KHAS2 | oppro3 | pEX20 HAp1o | FAXS1 $390
g KHABO FAX55 ASP23 | S590
W |zof SPM30 | DEX60 HAP50
KHA33N | Soveo | DExso Hap7a | FAXGT ASP60 | S690
KHA3ON FAXG2 $790




Tooling by DUET 3-=>7%&

KHASNH

" wl| e | W | KA | BA | oo _ g | YT | =

o¥E JISHEY |AISIHEY|| PR FSTRSUE | ASTAUE | SRR HiI£E | A28 | IBfFaR TILLs =3

5 | SKH2 T1 WH2 Ho YHX2 SKH2 $200

]

% |skH3 T4 WH3 H3 YHX3 SKH3 5305

A

7, Sk T5 WH4 Ha YHX4 SKH4

F sknto T15 VH10 HY5 XVC3

SKHo 600
SKH51 M2 QH51 MH51 H51 YXMA RHMA 614
SKH51
5401
SKH52 M3-1 MH52 H52 YXM2
SKH53 M3-2 MH53 HV1 607
SKH54 M4 MH54 Hv2 XVC11 HM4

T |skHss - MH55 HM35 | YXM4 HM35 $705

72} SKH56 M36 MH56 MH35 | YXM36 | HM36 | RHMS

o,

% |SKH57 - MH57,MH8|  HV10 XVC5 | HS93R $700
SKH58 M7 MH7 HM3 YXM7 HM7 400
SKH59 M42 MH59 HM42 | YXM42 | HM42 $500

HS12M

HS97R

- VHe4 S70 YXM60 Hﬁﬁﬂﬁ""

ot MH69 HMT12
HM33

SKHOD

FM38V

4

5 DR KMX1 YXR3 MDS3

PR URZEES QHZ DRM2 KMX2 | YXR33 | MDS?

4 DRM3 KMX3 | YXR? MDS1

E
SKH40 KHA30 | SPM30 | DEX40 HAP40 | FAX38 ASP30 $590

KHA32
KHAG0 DEX20

¥ KHA77 DEX60 HAP10 | FAX31 600

§ 2o KHASVN | Spm23 | DEX61 HAP50 | FAX55 ASP23 250

- KHA3ON | sPM60 DEX80 HAP72 FAXG1 ASP60 s

KHA33N DEX-M{ HAPSR | FAXG2 390
KHASNH DEX-M3




TSAFyoERRAN

S—-_JJ%

Tooling by DIJET

R

@ | Js | Al =0 | orE | mE | LB AB O BE gy || =B | ovF | o
MR \rRo)| e | 8 || mm 27| mm | oo | EB | BRBEE o | T ug | qun ™7
KTSM21 SD17
13 | SC% | 1055 || AUK1 |JFE-MD1|KTSM2A spig | oot | KB MU-C
KTSM22 SD18T
28 |SOMR| 4140 || AUKIT [JFE DS KJ?%? SD61 | PDS3 MU-M
PLAMAX| M200
?.L,C&“g' P20 KTSM3M SSDD17000 E§§ KPM30 :gmg MU-P | IMPAX | M201
EM38 | M238
3 % S-STAR M300
i SUST| 420 SR | 420m | HPM3B MEP-30 | STAVAX| M310
I M330
R
>
. SUSF RAMAX-S
e G-STAR HPM77 RIS w314
SUSF: [$17400 QsH6 ol | usso | pst R630 |CORRAX| N700
35
204 HPM220
S(KE[;B)‘ H13 DH2F | KAP9OF | FDAC ORVAR-S| W302
40 HPM1
PCM40 NAK5S5 | KAPG5
P21 PCM40S NAK8D | Kapag | oD MEX41 M261
SLEIPNER| K105
60 S(Kg; D2 || Aup11 ﬁ\g;g acmis PD613 | KD21 | HPM31 RIGOR | K110
CALMAX| K340
%
n QPD5 SUS440C SUS440C
g | 57 Sﬂsof 440¢ f‘g’;‘? SPC5 DEX-P1 | KSP2 |ZzDP282| 440C ELMAx | M40
% (#3K) (#F) (#3K)
5
S-STAR
SUSF - HPM38 STAVAX | M310
2 a0 Doran | KSPT ipnazy MEP30 oo max| M330
. N~ MASIC [KMS18-20 YAG | NAG21 |DMG300 V720
% |50LLEL
% Z0fth CORRAX
b FER
w | L NMS1 | HPM75




Tooling by DUET 3-=>7%&

AR AN

iz on ] LLIFS FR KE BHAR o _ — YT | e —
y ==5U4 -
o¥E JISHEY |AISHE|| N5 SRR | SR T | STASE (SE HiI€E | A =20 TIbLs =3
SKD4 SKD4 DH4 KD4 YDC HD25 W105
SKD5 Hot || ks DH5 KD5 HDC HD26 W100
SKD6 W11 || skpe DH6 KD6 HD21A | VIDAR | w300
SKD61 H13 || skpet | aDet ém KDA DAC HD21AX | ORVAR-2M | W302
SDH3
SDH4
DHA2 | KDAT | DAC3
AUDGT | QDAG1 sDDKHa%2 bHor | koms | bacto ORVAR-S
SKD61 () DK65
SDH43 DS'EI;S KDAMAX | DACS55 DIEVAR | W303
SKD62 H12 || skpe2 | ape2 DH62 | KDB DBC HD21B
SKD7 Ko || Aup7 DH72 | KDH1 | YEM HD23 W320
2
L AUD71 DH71 DAC40
= DH7
2 sor@ AUDyo | ODH DHSS Yenee | HONT | HD23M
SKD8 H19 || skps DH41 KDF MDC HD27
MDC-K HD28
SKDS () phaz | Kora | MDCK 1200)
SKT4 SKT4A | Q41 GFA KTV DM HD13T | ALVAR14 | W500
SDH21 HD14M
SKT4 (%) AUDBO | QDT | SDH23 | GF78 | KTV2 | YHD28 %08
DK4A
AUD91
A48 Pk DH76 YHD3 HD22B
DH2F | KAPQOF | FDAC
ZDfth
W335
QF5 | SDH122 E-DAC HOTVAR | (oo
e ‘ DRM1
Bi# |whyrx% QHz Dhtip | KMX1 | YXR33 | MDST
i E

) ORI 558 | 53EESXDIRRLICBDTH D,




9-=27% Tooling by DIJET







